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Tehtava 2

Mita alla oleva ohjelma tulostaa?

#include <icstream>
#include <vector>

class Point {
public:

Point (int x = 0, int yv = 0) v A{y)
double func(Peoint &p)
this->x = 7; p.y = 7; return 1.0;
}
int func{Point *p){
this~->y = 9; p->x = 9; return 2;
}
void print (char ¢) const {
stdricout << ¢ << ": (" << this->x <<

<< this->»y << "}" << std::endl;

}
private:
int x; int vy;

void func{std::vector<Point> points, Point &p)
for(std::vector<Point>::size_type i=0; i<peints.sizel()

points[i].func(p);

int madin {)

{ ,
Point pl; Point p2(1l, 2);
std::vector<Point>» points;

{}

points.push _back(pl); points.push_back(p2);

pl.print ('"A'); p2.print{'a")
double d = pl.func(&p2);
pl.print ('B"); pZ.print{'b")
pl.func (* {points.begin()));
pl.print ('C'); pl.print{'c")
func (points, pl);

pl.print ('D"); p2.print{'d")

(* (points.begin() + 1)) .print{'E");
(* (points.end() - 1)) .print('e');

return 0;
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Tehtava 4
Mita alla oleva ohjelma tulostaa?
#include <iostream>

clagss A {
public:
A(int a = 0){ this->a = a; }
A (A const &a)
this-»a = a.a;
std::cout << "C-C " << a.a << std::endl;

1

I
~A(){ std:i:rcout << "D " <« this->a << std::endl; }
A &operator=(A const &al) {
std::cout << "operator= " << al.a << std::endl;
this-»a = al.a;
return *this;
}
private:
int a;
iy

int func(int number) {
A al;
try{
if (number <= 0){
A a2 = al; throw "0";
}
else
{ A a2(2); a2 = al; } throw number;
: .
} catch{int e){
std:icout << "func: " << e << std::endl;
}
return 0O;
1
int main{void) {

A a (100} ;
try |
if(func (2) = 0){ throw "rv i= 0%; }
gtd:rcout << "——=" << std::endl;
if{(func (-5) != 0){ throw "rv != 0"; }
} catch{const char *e}/{
std::icout << "main: Y << e << std::endl;

} .
std::cout << "END" << std::endl;
return 0;
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